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COMPARATIVE CONSTITUTION
OF THE UK AND USA

Option—(1)
Time Allowed : 3 Hours] [Maximum Marks : 80
Note : Attempt any five questions. All questions carry equal marks.
=l ufer oo & S S Idft gl & oFw §EE
1. Describe the salient features of the Constitution of America. 16

s & dfagm &1 e foumaest &1 v i)

2. Define Conventions. Describe the important conventions of the British

Constitution. 16
wees @ uRamen fSu ol & dfaum w9 e e e 9o
FHifery)

3. Examine the powers and position of the American President. 16
e & Uwufd = widaal a fafd &1 wdemor wifsm

4. “The British Parliament is so Supreme that it can do anything except
changing man into woman and women into man.” Comment. 16

‘“fafew 9Og Ta Taiea € T o9 T SR e SR W 1 Wi ¥ uRafid
H & faled o7 T9 %3 w Hhdl 21 feweht wifeg

5. Write the main functions of Political Parties. 16

TSHIfdh Tl & [T & adrsul

6. What is meant by Pressure groups ? Explain the characteristics of American

Pressure groups. 16
T TS H 1 1ed 27 SR <o gl i fawivasti & avi wifew)
7. Compare the characteristics of British and American Bureaucracy. 16
fafewr wd omftt AiemEl @t fagivaet w1 o i
8. Discuss the recent Political Trends found in America. 16

SR H UE WM Al qa UsHIfdeh Ygiaal 1 guiH hiferg)
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9. Objective type questions :

TS I9:

(1)

(ii)

(iii)

(iv)

(v)

Conventions are found mostly in which Country ?

2x8=16

(a) America (b) Pakistan

(c) England (d) Japan.

gurd wed sAfyes feg o1 o o et 22

(a) STHTERT (b) drfer&™

(c) ¥refe (d) ST

What is the nature of American Constitution ?

(a) Flexible (b) Rigid

(c) Flexible and Rigid (d) None of the above.
afert wfaum s 22

(a) oT=tet (b) H3R

(c) Tl WA HR (d) STF HIE Tl
Official resisdence of American Prime Minister is :

(a) White House (b) Bukinghum Place
(c) 10, Dowining Street (d) Ellesey House.
AfRT & gumEst w1 e @ o

(a) B3 BI3H (b) wfrsH HI

(c) 10, SRMT I (d) sferel o
Who said, “England Constitution is the father of all Constitutions.”
(a) Thomas Pan (b) Munro

(c) Wilson (d) Lenin.

T2 fReR g, ‘T w1 Gfaym gl w@faust w1 SHe 21
(a) omE (b) T

(c) faeum (d) <t

Cabinet is responsible to :

(a) House of Commons (b) Speaker

(c) President (d) King.

nfued feas ufd SRt @2

(a) HIFH TIA (b) TR

(c) Tegafd (d) Hwrel
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(vi) Total Numbers of Senate are:

(a) 100 (b) 95
(c) 120 (d) 200.
e & el #1 wd "em fead @2
(a) 100 (b) 95
(c) 120 (d) 200.
(vii) System of Govt. in England is :
(a) Federal (b) Unitary
(c) Parliamentary (d) Monarchy.
Tde W WEA H WEY & 8?2
(a) HeETHR (b) THTHS
(c) U (d) TSl
(viii) Which Party system is found in USA ?
(a) Bi-Party (b) Multi-Party
(c¢) Single Party (d) None of the above.
iRl § wHA-W <eld gumelt U St @ 7?
(a) fg-<efi= (b) =E-<A™
(c) Th<d™ (d) ST ¥ ¥ *IE T
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